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D. fortii: 0
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: 1083H

BETS5H B (cells/L)
SEHh s KiE KR B Alexandrium Dinophysis &5
(°C) Pp- D. fortii D. acuminata F DD Dinophysis
. Om 227 329 -
1) B 212 335 0 0 1,170 40 D. infundibula
Om 220 314
@BAE 5m 214 334 0 0 30 10 D. rudger
10m 20.9 33.6
_ Om 215 324
) 0 0 10 0
®=viR 5m 21.0 33.5
Om 21.2 334
@& FiE 5m 20.9 335 0 0 0 10 D. caudata
10m 204 33.6
@)= 10m - - 0 0 0 0
®KiR 10m - - 30 0 0 0
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Alexandrium spp. (cells/L)

FEE

OEE | OBAA|O=VYIR|DEHIF|OEE |OKR
7H11H 10 0 0 - - -
7H128 - - - 0 0 10
7H19H 0 0 0 0 0 0
7H25H 0 0 0 0 0 -
7A26H - - - - - 0
8H1H - 0 0 0 - 0
8H2H - - - - 0 -
8H8H - 0 0 0 - 0
8H9H - - - - 0 -
8H15H - 10 0 0 - -
8H22H - 0 0 0 0 0
8H29H - 10 0 0 - -

9A5H8 10 20 0 0 - 10
9H12H 20 20 0 0 0 -
9H21H 0 0 0 0 - -
9H26H 0 10 0 0 0 0
10838 0 0 0 0 0 30
sam D. fortii (cells/L)

OHERT | QBHFE|Q=VIR |@&EH K| OEE |@KR
7H11H 0 0 0 - - -
7H12H - - - 0 0 0
7H19H 0 0 0 20 0 0
7H25H 0 120 10 0 0 -
7H26H - - - - 20

8A1H - 0 0 0 - 10

8H2H - - - - 0 -

8H8H - 0 0 0 - 0

8H9H - - - - 10 -
8H15H - 0 0 0 - -
8H22H - 0 0 0 0 10
8H29H - 0 0 0 - -

9A5H8 0 0 0 0 - 0
9H12H 0 0 0 0 0 -
9H21H 0 0 0 0 - -
9H26H 0 0 0 0 0
10A3H 0 0 0 0 0
EE g D. acuminata (cells/L)

OEE  |QBH#H|Q=-VIE |@EHK|OEE |@KR
7R11H 30 0 0 - - -
7H12H - - - (0] 0 10
7H19H 270 20 0 0 0 0
7H25H 1,010 170 0 0 0 -
7H26H - - - - - 10

8H1H - 1,540 30 0 - 0

8H2H - - - - 0 -

8H8H - 710 60 10 - 0

8H9H - - - - 0 -
8H15H - 1,900 0 0 - -

8H22H - 2,340 0 0 0 0
8H29H - 690 0 0 - -

9A5H8 4,430 210 0 10 - 10
9H12H 2,640 240 0 30 10
9H21H 120 150 0 20 - -
9H26H 1,100 180 20 10 10 0
10A3H 1,170 30 10 0 0 0

Alexandrium spp.
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OHAT & B D RIS B 1T 2 SR £(2020~2022 4F)
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